

$$5y + x + 25 + 2 = 0$$

$5y + x + 27 = 0$ (Equation of the normal)

5 $y = \frac{1}{2}x$ at the point $(\frac{2}{3}, \frac{1}{3})$

$$y = \frac{1}{2}x$$

$$\frac{dy}{dx} = \frac{1}{2}$$

$$\frac{dy}{dx} \bigg|_{x=3} = \frac{1}{3} = -\frac{1}{4}$$

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{3} = -\frac{1}{4}(x - 3)$$

$$\frac{3y - 1}{3} = \frac{-x + 3}{4}$$

$$4(3y - 1) = 3(-x + 3)$$

$$12y - 4 = -3x + 9$$

$$12y + 3x - 9 - 9 = 0$$

$12y + 3x - 18 = 0$ (Equation of the tangent)

$$y - 1 = \frac{1}{3}(x - 3)$$

$$\frac{3y - 1}{3} = \frac{1}{3}(x - 3)$$

$$3y - 1 = x - 3$$

$$3y - 1 - x + 3 = 0$$

$$3y - x + 2 = 0$$

$3y - x + 2 = 0$ (Equation of the normal)

$$Ay - 6x + 10 = 6x$$

circle's eqn
x² + y² - 6x - 4 = 0 (Equation of the tangent) \Rightarrow find slope

$$y + \frac{1}{3} = -\frac{2}{3}(x+1)$$

(S) down out to x & y

$$ay + 1 = -2x - 2$$

dy/dx

$$3(2y) = 2(2x - 2)$$

$$6y + 3 = 4x - 4$$

$$6y + 4x + 3 + 4 = 0$$

(S) find slope

$$2x + 4 = 1 + 4x$$

$$1 - 1 = 4x - 2x$$

$$0 = 2x$$

$$x = 0$$

$$y = 1$$

$$y = 1 + 2x - 2$$

$$\frac{dy}{dx} = 1 - 2x$$

$$m = \frac{dy}{dx} = 1 - 2x$$

$$\frac{dy}{dx} \Big|_{x=0} = 1 - 2(0)$$

$$= 1 + 4$$

$$= 5$$

$$y - y_1 = m(x - x_1)$$

$$y - (-5) = 5(x - (-2))$$

$$y + 5 = 5(x + 2)$$

$$y + 5 = 5x + 10$$

$$y - 5x + 5 - 10 = 0$$

$$y - 5x - 5 = 0$$

$$y + 5 = -1(x + 2)$$

$$y + 5 = -\frac{2x - 2}{5}$$

$$5y + 25 = -2x + 2$$

$$5y + 2x = -23$$

$$5y + 2x = -23$$

$$\frac{dy}{dx} \Big|_{x=2} = 6(2) - 2$$
$$= 12 - 2$$
$$= 10$$

$$y - y_1 = m(x - x_1)$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y - 8 - 10x + 20 = 0$$

$y - 10x + 12 = 0$ (Equation of the tangent)

$$y - 8 = -\frac{1}{10}(x - 2)$$

$$10y - 80 = -x + 2$$

$$10y + x - 80 - 2 = 0$$

$10y + x - 82 = 0$ (Equation of the normal)

3. $y = \frac{x^3}{2}$ at point $(-1, -\frac{1}{2})$

$$y = \frac{x^3}{2}$$

$$\frac{dy}{dx} = \frac{3x^2}{2}$$

$$m = \frac{dy}{dx} = \frac{3x^2}{2}$$

$$\frac{dy}{dx} \Big|_{x=-1} = \frac{3(-1)^2}{2}$$

$$= \frac{3}{2}$$

$$y - y_1 = m(x - x_1)$$

$$y - (-\frac{1}{2}) = \frac{3}{2}(x - (-1))$$

$$y + \frac{1}{2} = \frac{3}{2}(x + 1)$$

$$2y + 1 = 3x + 3$$

$$2(0y + 1) = 2(0x + 3)$$

$$1y + 1 = 6x + 6$$

NAME: URBANBEH, NIDHARANI BONIFACE
MATIC NO: 191111011411
DEPARTMENT: MABB5

MAI 104

ASSIGNMENT

1) $y = 3x^2$ at point (1, 2)

solution

$$y = 3x^2$$

$$\frac{dy}{dx} = 4x$$

$$m = \frac{dy}{dx} = 4x$$

$$\left. \frac{dy}{dx} \right|_{x=1} = 4(1)$$

$$= 4$$

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$y - 4x + 2 = 0$$

$y - 4x + 2 = 0$ (Equation of the tangent)

$$m_1 m_2 = -1$$

$$m_2 = \frac{-1}{m_1}$$

$$y - y_1 = \frac{-1}{m_1}(x - x_1)$$

$$y - 2 = \frac{-1}{4}(x - 1)$$

$$4y - 8 = -x + 1$$

$$4y + x - 9 = 0$$

$4y + x - 9 = 0$ (Equation of the normal)

$$4y = 3x^2 - 2x$$

$$\frac{dy}{dx} = 6x - 2$$

$$m = \frac{dy}{dx} = 6x - 2$$

$$y - y_1 = m(x - x_1)$$

$$y - (-5) = 5(x - (-2))$$

$$y + 5 = 5(x + 2)$$

$$y + 5 = 5x + 10$$

$$y - 5x + 5 - 10 = 0$$

$y - 5x - 5 = 0$ (Equation of the tangent)

$$y + 5 = \frac{-1}{5}(x + 2)$$

$$y + 5 = \frac{-x - 2}{5}$$

$$5(y + 5) = -x - 2$$

$$5y + 25 = -x - 2$$

$$5y + x + 25 + 2 = 0$$

$5y + x + 27 = 0$ (Equation of the normal)

$y = \frac{1}{2}$ at the point $(3, \frac{1}{2})$

Solution

$$y = \frac{1}{2}$$

$$\frac{dy}{dx} = -\frac{1}{2}x$$

$$\frac{dy}{dx} \Big|_{x=3} = -\frac{1}{2} \cdot 3 = -\frac{3}{2}$$

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{3} = \frac{-1}{9}(x - 3)$$

$$3y - 1 = \frac{-x + 3}{9}$$

$$9(3y - 1) = -x + 3$$

$$27y - 9 = -x + 3$$

$$27y - 3x - 9 - 3 = 0$$

$27y - 3x - 12 = 0$ (Equation of tangent)

$$y - \frac{1}{3} = \frac{1}{9}(x - 3)$$

$$3y - 1 = \frac{x - 3}{3}$$

$$3y - 1 = 3(\frac{x - 3}{3})$$

$$3y - 1 = x - 3$$

$$3y - x + 2 = 0$$

$3y - x + 2 = 0$ (Equation of the normal)